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REEMETERAKE BaREKEABRERREE
ERKEERE 8:30

KEBEABRBER (EXINEKSE 2KkF (EK) )
B | Xz |SE|KE|E E|pH|[7ray| BE | %% (EEtY| & v | " B
E HREW (1A Hy
C C E mg/l | mg/l | mg/l | mg/l [ mg/l | mg/l
1 & 25.5124.4 3,488] 7. 97
2| B |[25.5]23.9 76.8 |7.74 | 54.0 | 63.0 217 | 5.40 | 3.74 | 0.10
3 27.0 1 24.5 55.4 17.82
4/ B [25.0 | 23.1 210 [ 7.80
5| K& 27.5124.8 65.6 |7.74
6| B |[24.5]24.8 61.3 |7.83
7l ™M 25.0 1 23.5 74.3 [7.76
8| B |[25.0]22.4 246 | 7.66
9 M 23.5123.2 213 |117.76
100 £ 12451229 401 | 7.91
1| B 24.0 1 21.9 135 [7.85
12| R | 24.5122.9 97.3 17.82
13| £ 24.5 | 22.2 60.2 [7.84
14 B |24.0(22.0 50.9 | 7.86
15| & 22.0 1 22.8 42.4 17.90
16) £ |22.0]22.1 41.817.87 | 54.0| 76.0 179 5.4 1.87 | 0.06
17 B 22.5122.0 52.8 |7.82
18] & |24.5]23.5 23.3 [7.91
19| B 25.0 1 23.3 43.117.92
200 £ [23.0]22.9 29.3 [7.87
21 £ 20.0 | 21.1 15.8 | 7.89
22 W& [20.0]21.3 22.4 17.85
23| = 19.5 | 21.3 21.017.86
24| W& [23.0]20.5 24.117.90
25| = 23.0 ] 20.7 17.5 | 7. 86
26 M |[20.519.9 159 | 7.79
27| = 19.0 | 19.3 57.6 |7.83
28| HE 19.0 | 21.0 23.5|7.82
29| = 18.5 1 20.2 49.4 17.78
30| HE 15.5119.2 21.117.82
Ty 22.9122.3 196 ({7.84 | 54.0 [ 69.5 198 54| 2.81 0.08
=xE 27.5 | 24.8 3,488/ 7.97 | 54.0 | 76.0 217 5.4 3.74| 0.10
1K 15.5 [ 19.2 15.8 |7.66 | 54.0 | 63.0 179 5.4 1.87 | 0.06




S 25 9AH

REAETERAKE FRFREKERRERREE
FROKERRE 8:30

KB REBRER (ENEKE FKt GEK) )
X | KR |KE|EB E|pH|7Lhy| BE | %% |BEH| &% v | & B
E REW (1A Hy
C C E mg/l | mg/l | mg/l | mg/l [ mg/l | mg/l

1 & 25.5 1 26.1 0.4 (7.59

2 B |25.5(24.9 0.8 (7.39 | 450 66.0 132 | 11.4 | 0.04 | <0.02

3 [55] 27.0 1 25.3 1.0 [7.42

4 B |25.0(24.0 1.017.29

5 & 21.5 1 24.7 0.8 [7.36

6 B | 24.5(25.3 0.8 17.33

Ji [55] 25.0124.9 0.8 (7.43

8 B |25.0(23.5 1.417.23

9 & 23.5123.3 0.6 [7.29

10 = |24.5]23.5 0.6 |7.52

11 iE 24.0 | 22.7 0.4 (7.46

12 M |24.5]23.3 0.5 17.52

13 = 24.5 1 23.0 1.2 [7.60

14 B | 24.0(22.6 0.8 17.45

15 & 22.0 ] 23.2 0.8 [7.32

16 £ |122.01]23.0 0.6 17.49 | 48.0 | 75.0 128 5.0 0.04 | <0.02

17 iE 22.5122.8 1.1 (7.42

18 = |24.5]23.8 0.9 |7.48

19 iE 25.0124.0 0.4 [7.56

20 = |[23.0]23.8 0.5 17.55

21 = 20.0 | 22.5 1.1 [7.56

22 B 120.01(21.9 0.9 |7.61

23 = 19.5122.0 0.9 (7.63

24 B |23.0(21.6 0.9 |7.66

25 = 23.0 | 21.6 0.9 [7.61

26 m |[20.5]20.8 0.9 |7.51

21 = 19.0 |1 19.7 0.8 7.38

28 i 19.0 | 20.8 0.517.44

29 = 18.5 | 21.1 0.4 (7.39

30 i 15.5119.9 0.9 17.46
EH 22.9123.0 0.8 (7.47 | 46.5 70.5 130 8.2 0.04 | <0.02
BE 27.5 | 26.1 1.4 7.66 | 48.0| 75.0 132 | 11.4| 0.04 | <0.02
=K 15.5 1 19.7 0.4 (7.23 ] 45.0| 66.0 128 50 0.04 [ <0.02




